Name: Class: Date:

PERT Review-inequalities, quadratics, systems, polynomials

Multiple Choice
Identify the choice that best completes the statement or answers the question.

What is the solution of the system? Use a graph.

1. 4x+3y=-12

2x+3y=-18
y y
a. C.
> | O
/
-2 [0) 4 X )
5 of 4
2.67,-2) /
(1,-533
/
b ! d !
-6 -4 2 0] x 6 ) 2 0]
AN
(+1, +5.33)
(3, 18) ) )
P
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Name:

What is the solution of the system? Use a graph.

. y=5x+4
y=5x-3
/
g 4
/
4/
/ /
a / / C /
-4 -2 / x 4
/ ~ ~
|, .
[ 1]
|
no solutions infinitely many solutions
\If -
4+9(0,4) 4 /
/
/] \\ \ |/
b d
-4 -2 x -4 \ /
/ : \ : 0, =3
[l 4
/ \ i\
/ \ J1\
(0, 4) 0,-3)
What is the solution of the system? Use substitution.
. y=x+6
y=2x
a. (6,12) b. (-12,-6) c. (-6,-12) d (2,4
. 3x+2y=7
y=-3x+11
a. (6,-3) b. (6,-7) c. {—4%] d. (5,-4)
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10.

What is the solution of the system? Use substitution.

2x—y=-1
4x—y=—4
a. (-1.5,4) b. (1.5,10) c. (4,-1.5)
x—-y=-6
6x—3y=-9
a. (1,7) b. (3,9 c. {—6,%]
What is the solution of the system? Use elimination.
2x -2y =-8
x+2y=-1
a. (14,1 b. (1,5) c. (3,1
What is the solution of the system? Use elimination.
5x + 8y =-29
Tx -2y =-67

21
a. (-7,9) b. —10,§ c. (-1,-3)
Which ordered pair is a solution of the inequality?
y=4x -5
a. (3,4 b. (2,1) c. (3,0
3y—6<12x
a. (-3,8) b. (4,18) c. 4,-2)

(-1.5,-2)

4,-11)

0,4

(_9’ 2)

(1, 1)

0,7
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Graph the inequality.

y<4x-2
a.

11.

u'}




Name:

12. 4x + 6y = 10
a.
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13. y > -5x+3
a.




Name:

14.

What is the graph of the inequality in the coordinate plane?

x=4

ID:
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15. y<=2
— y
- | | x
: T tTTT T
b d
X —#

Which inequality represents the graph?

16.

a. y=2-3x+4 b. y<-3x+4 c. y=2-3x-4 d y<-3x-4



Name:

17.

18.

19.

20.

21.

22.

23.

»
~|

4 2 O 1 4
/
o [/
1
U
,/1,,
]
'I
a. y>4x -3 b. y<4x+3
Simplify the sum.

Bu? +2u2+7)+ Bud —=Tu+8)

a. Su3—Tur+2u-15
b. 113 +2u?-Tu+15

Simplify the difference.

(=Tx=5x*+5) = (-7x*-5-9x)
a. 2x*+2x+38
b. —14x*+ 10x+ 10

w2 —4w -8) - (5w? + 3w -2)
a. Tw2—-w-10
b. TW2+7w+6

Simplify the product.

2n(n® +3n+4)
a. 2n3+6n2+8n
b. 2n3+3n+4

5a*(3a* + 3b + 2)
a. 8a*+ 8ab + 54>
b. 15a® + 3b+ 1042

Factor the polynomial.
260 +4x” + 8x

a. 2x(x2+2x+4)
b. 2x(x+2)(x+4)

y <4x -3 d y=>24x+3

15-Tu+2u?+ 11 u?
Sud +2u?—Tu + 15

—14x* - 10x + 10
2x*+2x+ 10

Bwr-Tw-6
SBwr-w-10

2n3 + 6n + 8
n’+5n+4

15a® + 15a2b + 10a?
8al + 15a2b + 54

2x(x2+2x+8)
2x3 + 4x2 + 8x

ID:
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24.

25.

26.

27.

28.

29.

30.

31.

32.

42w10 4 240
a.  wo(d2w* +24)
b. 6wo(7w* +4)

c.
d.

6(7wi0 + 4n0)
ow3(Tw? + 4w)

Simplify the product using the distributive property.

(5h —3)Bh +7)

a. 15h% — 44h + 21
b. 15h% — 26h — 21

(=2h + 5)(5h - 2)

a. —10h* =21k + 10
b. —10h* +21h + 10

Simplify the product using FOIL.

(Bx—7)(3x—15)
a. 9x?2+6x+35

b.  9x2 + 36x + 35
(4x — 4)(3x — 4)

a. 12x? = 28x + 16
b. 12x* —4x - 16

What is a simpler form of the expression?

(2n*+5n+4)2n-4)

a. 4n’3-2n2+28n-16
b. 4n3+12n2-2n-16

Bk + 4)(3k* — 5k - 3)

a. 93 +27k2-11k—12
b. 9k -3k*>-29k-12

What is a simpler form of each product?

(2x—-6)?
a. 4x2-24x+ 36
b. 4x2-8x+36

(4x — 6y°)?
a.  16x% —24xy3 + 36y°
b. 16x? —48xy? + 36y°

10

15h% + 44h + 21
15h* + 26h — 21

—10h* = 29k — 10
—10h* + 29 — 10

9x2 —36x —35
9x2 - 36x + 35

126 + 4x — 16
12x% + 28x + 16

4n3 +2n%2 - 12n-16
4n3 + 18n%2-28n—-16

Ok® + 29k* — 3k — 12
Ok - 3k*+ 11k - 12

4x% + 36
4x* - 12x + 36

1622 + 36y°
16x% — 4xy3? + 36y°
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

What is a simpler form of the following expressions?

Q2m?-H(2m* + 4)
a. 4m?-16 c.
b. 4m*+ 16 d.

4m* - 16
4m3 - 16

What is the factored form of the following expressions?

w2+ 18w+ 77

a. (w-7w+11) C.
b. w-T)(w-11) d.
d?+12d + 32

a. (d+8)(d+4) c.
b. (d-8)(d-4) d.
d>—12d + 32

a. (d-4)(d-3) c.
b. (d-4)(d+8) d.
xX2—x-42

a. (x-7)(x+06) C.
b. (x+7)(x+6) d.

What is the factored form of the expression?

6x2+5x+ 1

a. Gx-D2x-1) c.
b. GBx+1)2x-1) d.
10x2+ 41x + 40

a. (2x+50Bx-98) c.
b. 2x+50Gx+38) d.
6x2+ 17x+ 12

a. (Gx-4H2x+3) C.
b. (Bx-4)2x-3) d.

What is the factored form of the expression?

128 + 4d — 1
a. (6d+1)2d+1) c.
b. (6d—1)(2d-1) d.

What is the factored form of the expression?

206 + 22x — 12
a. 2(5x-2)2x +3) .
b. 2(5x +2)(2x - 3) d.

11

w+T7w+11)
w+1Dw+77)

d-8)d+4)
d+8)(d-4)

(d+4)d-28)
(d+4)(d+38)

x+7)(x-06)
(x=7)(x-06)

Bx-1D(2x+1)
BGx+D(2x+1)

(2x-5)(5x + 8)
(2x-5)(5x-8)

Bx+4)2x+3)
Bx+4)(2x-3)

6d-1)2d+1)
6d+1)2d-1)

(10x - 2)(4x + 3)
2(5x+4)(2x - 3)



Name:

What is the factored form of the expression?

43. d* + 184 + 81
a. (d+9)d-9) c. (d-8Dd-1)

b. (d+9)° d. (d-9)°

44, d* - 22d + 121
a. (d+11)?° c. (d-1D)d+11)
b. (d-11) d. d-12Dd-1)

What is the factored form of the expression?

45. r2—-49
a. (r=-7r+7 c. (r=N(r-7
b. (r+7Nr+17) d ¢-7(r+9)
46. s2-16
a. (s-4(s-4) c. (s-d(s+4
b. (s+d)(s+4) d (-4(s+6)

What is the factored form of the expression?

47. 4x2—81y?

a. 2x+92x-9) c. (2x+9y)?

b. (2x+9y)(2x-9y) d. (2x-9y)?
48. k2—81h?

a. (k—9h)(k+9) c. hk+9)k-9)

b.  (k+9h)(k + 9h) d.  (k+9h)(k - 9h)
49. 112x*-63

a. 7(4x+3)° c. 7(4x-3)’

b. 7(Bx+4)(3x—4) d. 7(4x+3)(4x-3)
50. 50x* +80x + 32

a. 2(5x+4)° c. 2(5x-4)°

b. 2(4x+5)’ d. 2(4x-5)°

What is the factored form of the expression?
51. 33 +3x2+x+1

a. x(Bx2+x+1) c. 3x%(x+1)
b. (x+3)3x2-1) d +D@xE+1)

12



Name:

52.

53.

54.

55.

56.

57.

58.

59.

60.

15¢% +20g% - 18g — 24
a. (5¢*+4)(3g-6) c. (5¢*+6)3g-4)
b. (5¢2-6)(3g+4) d. (5¢*-4)(3g+6)

What is the factored form of the expression? Factor completely.

6x* — 9x3 — 36x2 + 54x

a. 3x(x2-6)2x-3) c. 6x(x2-6)2x-3)
b. 3x(x2+6)(2x +3) d. 6x(x2+6)2x+3)
198k3 — 165k% + 264k — 220

a. (3K +44)(6k —55) c. 11(3k2+4)(6k-5)
b. 11(3k%2—4)(6k +5) d. (33k2—-4)(66k + 5)

Solve the equation using the Zero-Product Property.

x=-9Dx+7)=0
a. 97 c. —-1,1
b. -9,-7 d 9-7

2x—4H2x— 1)=0

a. 2, —E c. 22
b. 2 % i 2 %
-On(dn-5)=0

a —é, 1 c ——é, 1
b. 01 d 0 -1

What are the solutions of the equation?

22 —6z-27=0

a. 3,9 c. 3,9
b. 3,-9 d. -3,-9
322 4+3z-6=0

a. 1,2 c. 3,2
b. 1,2 d. 3,2
¢’ —4c=0

a. 0,4 c. 0,4
b. 0,4 d 1,-/4

13
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61.

62.

63.

64.

65.

66.

67.

68.

15=8x*—14x
3 2 4 5 35
a. _5,8 b _5,3 C _3,8 d _4,2
x> +3x=18
a. 3,-6 b. -3,6 c. 4.42,-4.42 d. 18.75,-21.75

Use the quadratic formula to solve the equation. If necessary, round to the nearest hundredth.

x*+3=—4x

a. 1,3 b. -1,-3 c. 1,-3 d 1,-3

x> +3=09x

a. 0.35,-8.65 b. -0.35,-8.65 c. 0.35,8.65 d. -0.35,8.65

Simplify the rational expression. State any excluded values.

2x — 8
x—4
3
a. 2;wherex#4 C. )
b. x d. &;wherex#2
4x — 8
4x + 20
x—2 ; where x # =5 C x_z'wherexqt—S
4x +20° T ox+5’
b. x+5;wherex¢2 d 4 x+2 ; where x # 5
x—2 x—-5
X
4x + x2
1 1 1
a. 1 C. 4+x,wherex;t0
b. L;Wherex;t—4,0 d. l;Wherex;tO
x+4 X
—14x3
x3 — Sx+4
-14 1 1-5x.
P 1,wherex¢ 5,0 C. =y ; where x # 0
b. 1_i4§x;wherex¢—; d. lfix;wherexi—;,o

14
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69.

70.

71.

72.

73.

74.

x+7
x2 +4x — 21

a. ; where x # 3, -7
x-3
x—3;

b. where x # 3

x2 —3x—10
x+2

a. x-—5;wherex # -2

b. x—5;wherex#5

Multiply. State any excluded values.

2 2

3a a2

i; where a # 0
3a2

b. i; where a # 0
a2

qg-3 34

5 g-4

3g2 — 9q
-5

3a-9 s
—4g +20° e

; where g # 5

Multiply.

y2-9 Sy

Divide.

-4 (-2

x—8 ~ x-3

(x = 2)(x — 3)
x—8

(x = 2)(x — 3)

b. -8

15

I ; Where x # 7
x=17
x =17

—1; where x # 2
x=2

x—-2

i; where a # 0
3a3

4

3a?

q* —9q
_Sq

3g2 — 9q
T5q 1 20° where g #

; where g # 0

x—=2
x-8)x-3)
x+2)(x-3)

x—38

ID:
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

8m7 — 10m>) + 2m3
a. 4m’ — 5SmS
b. 4m4 — 10m>

(—6m® — 6m3 — 16ms) + 2m3
a. —3m° — 3m8 — 8ms
b. -3mé — 6ms® — 16m3

(X2 —4x+8)+(x—-2)
4
x—2

b. x—-4-4

a. x—2-

(9x2 — 27x + 25) + (3x — 5)

25
a. 3x-9 E
5
. -4 -
b. 3x 5

c. 8m7 — 10m2
d. 4m* — Sm2

c. —3mb —3ms5 — 8m3
d. -3mé — 3m5 — 16ms

What is the simplified form of each expression?

5(14-2)" =2

a. 60 b. 30
420+ 12) + (4 = 3)

a. 29 b. 80
373241244

a. 291 b. 219

13[62e—(52——42)—k9]

a. 585 b. 169

Evaluate u + xy, foru =18, x =10, and y = 8.
a. 188 b. 36

Evaluate % +xy”, foru=20,x=4,y=7,and z = 10.

a. 294 b. 198

Evaluate (ab)’ for a =4 and b = 3.
a. 36 b. 24

8
—4—
C X . 2
4
d -2+
* x—2
5
.o —4+
e 3 -5
d 3x-9-5
c. 72 d
c. 128 d.
c. 437 d.
c. 26 d.
c. 98 d.
c. 900 d.
c. 81 d

16

360

92

867

181

224

786

144



Name:

86.

87.

88.

89.

90.

91.

92.

93.

Simplify each expression.

Asg

4
a. S

b. %g
(7+5b)+1

a. 7+6b
b. 8+6b

What is the value of % when x = 2

What is the simplified form of each expression?

—;(21m +27)

a. 63m+9

b. 7Tm+9

1.7m* +6.5n —4n +2.5m* —n
a. 4.2m*+1.5n

b. 4.2m*-1.5n

2.5m* +7.8n—3.2n+5.3m> —5.9n

a. 7.8m* —1.3n
b. —2.8m2 —1.3n

13b
8+5b

27
20
15

Tm + 81
Tm+ 27

1.5m* —4.2n
1.5m* +4.2n

7.8m* +10.5n
—2.8m2 +10.5n

What sum or difference is equivalent to the expression?

3x+2
8
a —x+% b.
3x-2
9
1 2
a 3x—9 b

N1l W)

A=

N3 1)

ID:
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Multiple Response
Identify one or more choices that best complete the statement or answer the question.

What is the solution of the system? Use a graph.

94. y==x+2
y=3x-1
a. c.
y y
|/ |/
(0.75, 1.25)
/ /
i’ N 4 x -4 2N\ O 4 x
_ _P(=0.25,-1\75
/ /
b d.
y

L
o~
o~
T~

+0.75, 1.25

IS

IS

Numeric Response

95. Is x=-7 a solution of the equation -9 = 3x + 9?

18
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94. A

NUMERIC RESPONSE

95. no
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PERT Review-inequalities, quadratics, systems, polynomials

Multiple Choice
Identify the choice that best completes the statement or answers the question.

What is the solution of the system? Use a graph.

1. 4x+3y=-12

IS

2x+3y=-18
a. ! c. !
-6 4 2 |0 x ’
B 2 | O
ERDW @ (
-8 y -6
P 10 / -8
b. . d.
o) 0] 4 /x N 6 ]
) (1,-5.33 (1,




Name:

What is the solution of the system? Use a graph.
2. y=2x-5

y=2x-4

¥ / v
5 5 /
a. c
A4 2 4 X -4 -2
no solutions infinitely many solutions
¥ \ ¥
b / d
-4 D 2 4 X - I
%} »
X = /TN
(0’ _5) (0’ _4)

What is the solution of the system? Use substitution.
3. y=3x+7

y=4x

a. (-7,-28) b. (-28,-7) c. (1,4 d. (7,28)
4, 3x+2y=7

y=-3x+11

19
a. (6,-3) b. (6,-7) c. —4,7 d (5,4

ID:
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10.

What is the solution of the system? Use substitution.

4x—y=—4
2x—y=-1
a. (1.5,10) b. (-1.5,-2) c. (10,1.5)
x—y=-6
6x—3y=-9
a. (1,7 b. ,-11) c. {—6,%]
What is the solution of the system? Use elimination.
2x -2y =-8
x+2y=-1
a. (0,4 b. (1,5) c. (3,1
What is the solution of the system? Use elimination.
5x + 8y =-29
Tx -2y =-67

21
a. (-1,-3) b. (-9,2) c. —10,§
Which ordered pair is a solution of the inequality?
y=24x -5
a. (3,4 b. (1,1) c. (3,0
2y -4 <8
a. (4,4 b. (=3,11) c. (0,2

o

(1.5,4)

(3.9

(~14, 1)

7.9

2,1

0,-6)

ID:



Name: ID: B

Graph the inequality.
11. y<5x—-4
a.
vl
b.




ID:

L
‘ ‘
/

12. 6x+2y > 12

Name:




Name: ID: B

13. y>-5x+2
a.




Name:

What is the graph of the inequality in the coordinate plane?

14. x=-1

ID:



Name:

15. y<3

16.

ID:



Name:

17.

18.

19.

20.

21.

22.

23.

IS

—4 o)) (0] 2/
//
- g
4 //
//‘
a. y=22x-5 b y<2x-5
Simplify the sum.

(4u? +3u2+7) + (8u> = 5u + 8)

a. —4ud-5u>+3u-15
b. 15-5u+3u*+ 1243

Simplify the difference.

(=Tx=5x*+5) = (-7x*-=5-9x)
a. —14x*+10x+ 10
b. 2x*+2x+8

(Bw?—8w —8) — (bw? + 4w —5)
a. 3w?r—4w-13
b. wm?—4w-13

Simplify the product.

2n(n® +3n+4)
a. n*+5n+4
b. 2n*+3n+4

5a*(3a* + 3b + 2)
a. 8a*+ 8ab + 54>
b. 8a®+ 15a%b + 54>

Factor the polynomial.
267 + 4x” + 8x

a. 2x(x2+2x+78)
b. 2x3+4x? + 8x

o

y>2x+5 d y<2x+5

1213 + 3u? - 5u + 15
—4u? + 3u? - 5u+ 15

—14x* - 10x + 10
2x*+2x+ 10

M2+ 12w +3
SBw2-12w -3

2n3 +6n+ 8
2n3 + 6n% + 8n

15a® + 15a2b + 10a?
15a® + 3b+ 10a?

2x(x2 +2x +4)
2x(x +2)(x+4)

ID:
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24.

25.

26.

27.

28.

29.

30.

31.

32.

8w’ + 10w?
a. 24w’ + 5w?)
b. w3 (8w*+ 10)

c.
d.

2w3(4w* + 5)
2w(4wd + 5w)

Simplify the product using the distributive property.

(5h = 5)(2h - 5)

a. 10h* — 15h =25
b. 10h* — 35h + 25

(—4h + T)(5h + 3)

a. —20h* —47h - 21
b. —20h* + 47h - 21

Simplify the product using FOIL.

(Bx—7)(3x—15)
a. 9x2+36x+ 35
b. 9x2+6x+35
(5x + 7)(2x — 5)

a. 10x? + 39x + 35
b. 10x* — 11x — 35

What is a simpler form of the expression?

(3n*+5n+2)(2n - 3)

a. 6md+n:-1ln-6
b. 6n3+192-19n-6

(2k + 3)(3k* - 5k - 5)

a. Ok +25k*—k-15
b. 6k —k>+5k-15

What is a simpler form of each product?

(2x—-6)?
a. 4x2-12x+36
b. 4x2-24x+ 36

(4x — 6y3)?
a.  16x% —4xy? + 36y°
b. 16x2 —24xy3 + 36y°

10

10h* + 15h — 25
10h* + 35h + 25

—20h* — 23h + 21
—20h* + 23h + 21

9x2 - 36x —35
9x2 - 36x + 35

10x? — 39x + 35
10x? + 11x = 35

63+ 11n2—n-=6
6rn3—n?2+19n -6

6k> — k> — 25k — 15
6k> + 19k> — 5k — 15

4x2 - 8x + 36
4x2 + 36

1622 + 36y°
16x% — 48xy3 + 36y°

ID:
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

What is a simpler form of the following expressions?

(Bm?2-50Bm*+5)
a. 9m*+25 c.
b. 9m*-25 d.

9m?—-25
9m3 - 25

What is the factored form of the following expressions?

w2+ 18w+ 77

a. (w-7Tw-11) c.
b. (w+7)(w+11) d.
d? + 16d + 60

a. (d+10)(d-6) c.
b. (d-10)(d+6) d.
d>*—-9d + 14

a. (d-7(d-2) c.
b. (d+7)(d-2) d.
xX2—x-42

a. (x+7kx+06) C.
b. (x+7)(x-6) d.

What is the factored form of the expression?

6x2+5x+ 1

a. Gx-D2x-1) c.
b. Bx-1D2x+1) d.
14x2 4+ 29x + 12

a. (Ix+4)(2x+3) C.
b. (Tx—4)2x+3) d.
16x2+24x+9

a. (Ax+3)4x-3) C.
b. (4x+3)@x+3) d.

What is the factored form of the expression?

128 +4d — 1
a. (6d—1)2d-1) c.
b. (6d+ 1)2d+ 1) d.

What is the factored form of the expression?

20x% + 22x — 12
a. 2(5x+2)2x-23) .
b. 2(5x-2)(2x + 3) d.

11

w-7Tw+11)
w+1Dw+77)

(d+10)(d + 6)
(d-10)(d-6)

d-T(d+?2)
d+7)(d+?2)

x-=7x+6)
(x=7)(x—-06)

Bx+D2x+1)
BGx+D(2x-1)

(Tx —4)(2x -3)
(Tx+4)(2x -3)

(4x —3)(4x - 3)
(4x-3)(4x +3)

6d-1)2d+1)
6d+1)2d-1)

(10x - 2)(4x + 3)
2(5x+4)(2x - 3)



Name:

What is the factored form of the expression?

43. d* +12d + 36
a. (d+6)d-6) c. (d-36)d-1)

b. (d+6)° d. (d-6)°

44. d* —28d + 196
a. (d+14)° c. (d-14)d + 14
b. (d-196)d - 1) d. (d-14)°

What is the factored form of the expression?

45. r2—-49
a. (r=-7r+7 c. (r=N(r-7
b. (r+7)(r+17) d ¢-7(r+9)
46. s2-100
a. (s—10)(s+10) c. (s+10)(s+10)
b. (s—10)(s-10) d (-10)(s+12)

What is the factored form of the expression?

47. 4x2—81y?
a. (2x-9y)? c. 2x+92x-9)
b. (2x+9y)(2x-9y) d. (2x+9y)?
48. k2 - 2512
a. (k—5m)(k+5) c. (k+5h)(k—5h)
b. Kk +5)k-5) d.  (k+5h)(k + 5h)
49. 40x° —160
a. 10(2x+4)° c. 10(4x+2)(4x—-2)
b. 10(2x—4)° d. 10(2x+4)(2x—4)
50. 36x° + 120x + 100
a. 4(3x+5)’ c. 4(3x-5)°
b. 4(5x+3)° d. 4(5x-3)°

What is the factored form of the expression?
51. 33 +3x2+x+1

a. xBxt+x+1) c. 3x2(x+1)
b. (x+3)3x2-1) d G+DOBx2+1)

12



Name:

52.

53.

54.

55.

56.

57.

58.

59.

60.

15¢% + 20g% - 6g - 8
a. (5¢*-2)(Bg+4) c. (5¢*-HBg+2)
b. (5¢%2+2)(3g—-4) d. (5g*+4)(3g-2)

What is the factored form of the expression? Factor completely.

6x* — 9x3 — 36x2 + 54x

a. 6x(x2+6)2x+3) c. 3x(x2+6)2x+3)
b. 3x(x2-6)(2x-3) d. 6x(x2-6)(2x—-13)
80k3 — 100k2 + 120k — 150

a. (20k%2-3)(40k+5) c. 10(2k% + 3)(4k —-5)
b. (2k%+ 30)(4k —50) d. 102k2-3)(4k +5)

Solve the equation using the Zero-Product Property.

x+5x+4 =0

a. 54 c. —-1,1
b. 54 d 5,4
Ax—-4H2x+8) =0
a. 1,4 c. 4,2
b. -1, -4 d 1,4
n(dn+5)=0
1 5 5
a = c. 0 ~1
15 5
b. 72 d O 1

What are the solutions of the equation?

22 +4z-21=0

a. 3,-7 c. —3,-7

b. 3,7 d. 3,7

32 +8-16=0

a 4.4 . 14
3

b, 144 d. 4,4

. 3, . ”

¢2=9¢=0

a. 0,9 c. 0,-9

b. 0,9 d 1.-/9

13
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Name:

61.

62.

63.

64.

65.

66.

67.

68.

15=8x*—14x
5
a. -3, 3 b.
X% +dx =21
a. 3,-7 b.

Use the quadratic formula to solve the equation.

x2+4=4x
a. 2,2 b.

x?—18=—x
a. 4.77,3.77

b. 4.77,-3.77

C.

C.

ID:

35 L 24
4’2 5’3
4.8,-4.8 d -3,7

If necessary, round to the nearest hundredth.

-2,2 d -2,-2

-4.77,-3.77 d. —4.77,3.77

Simplify the rational expression. State any excluded values.

2x— 6

x-3

a. 6;wherex #?2

b. x

3x — 3

3x + 15

a. x_l;wherex¢—5
x+5

b. 3(x+1];wherex¢5
x—=5

10x

2x + x2

a. 5

b. L;Wherex;t—Z,O
x+2

14x5

x5 — 4x6
1i44x;wherex¢71t,0
1—4x.
i ; where x # 0

14

2; where x # 3
4
3

x+5
x—1

; where x # 1

x—1
3x + 15

; where x # =5

5+%;Wherex¢0

170; where x # 0

14 1
4x_1,wherex¢ 4,0

14x . 1
1_4x,wherex¢4




Name:

69.

70.

71.

72.

73.

x—3
x2 —8x+ 15

a. x—5;wherex#5

b. L;wherexi 5,3
x=5

x2 +3x—10
x—=2

a. x+5; wherex# -5

—; where x # -2
x2

Multiply. State any excluded values.

3 1

2a 2a2

a. i; where a # 0
4a?

3
b. —
4a?
9-5 2
3 qg+5
2g2 — 10
a. %; where g # -3
2g — 10g2
——;wh # -3
5q + 15 where q
Multiply.
y:-9 4
Sy y+3
4@y + 3)
& =
4y - 3)
b. 5

15

i; where x # -3

x3
x3

x2

x+5; where x #2

i; where a # 0
4a3

i; where a # 0
aZ

q? — 10g
3q
2q> - 10q
3g + 15

; where g # 0

; where g # =5

ID:



Name:

74.

75.

76.

7.

78.

79.

80.

81.

82.

83.

Divide.

w4 (@-2)
x—-8 ~x-3
x—-2)(x—-3)
x—38
(x = 2)(x — 3)
x—38

b.

(10m8 + 8m7) + 2m?
a. Smé + 8m7
b. 10m3 + 8m>

(—10m3 + 20ms + 18m#) + 2m?

a. —5mb + 10m3 + 9m?2
b. —-5m8 + 10m5 + 9m4

x2=-Tx+14)+x-2
14
x=2
4
x=2

a. x—7-

b. x—-5-

8x2 —16x +9) + (2x - 3)
3

oA -2+

a X Zx—?)
9

b, 4dr—8-——2—

x 2% — 3

What is the simplified form of each expression?

4(13-7)% +4
a. 36 b.

41+16) - (6-5)
a. 1 b.

3 .32+12+4
a. 867 b.

13[62 +(52-4) +9]
2 26 b,

Evaluate u + xy, foru=13,x=9,and y =7.

a. 29 b.

16

x—2
x-8)x-3)
x+2)(x-3)

x—8

Smé + 4ms
Sm8 + 4m’

—S5mé + 20ms5 + 18m?
—5mé + 10m3 + 18m4

x—-7-17

4
-5+
o x—2

3
4 =2 — —>—
* 2% -3
4 -8 -3
12 d 9
20 d 6
437 d. 219
585 d. 181
76 d 124

ID:



Name:

84.

85.

86.

87.

88.

89.

90.

91.

92.

Evaluate % +xy4, foru=15,x=8,y=8,and z=5.

a. 32771 b. 16777219

Evaluate (ab)’® for a =3 and b = 4.
a. 144 b. 256

Simplify each expression.

8yk
—5Sk
a. —%k
5
b. —3y
(10+8y)+4
a. 1448y
b. 10+ 12y
. X 8
What is the value of 5 when x = 3 andy =
L
" 10
8
b. 9

What is the simplified form of each expression?

1
5(12m +16)

a. 36m+8§

b. 6m+38

1.7m* +6.5n —4n +2.5m* —n
a. 4.2m*—1.5n

b. 4.2m*+1.5n

9.5d> +7.5m—6.3m+5.2d> —8.3m
a. 14.7d*> —7.1m
b. 43d®> —7.1m

C.

9,

c.
d.

45056

48

14 + 12y

6m+ 16
6m + 48

1.5m* —4.2n
1.5m* +4.2n

14.7d> +9.5m
4.3d> +9.5m

What sum or difference is equivalent to the expression?

6x+2
10

a. —=x b.

5

=

17

gx+—

d. 20151121
d 24

3 1
d. Sx + 5

ID:
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Ox -7
93. 6
. 2
6
Multiple Response

| w
=
|

ol

Identify one or more choices that best complete the statement or answer the question.

What is the solution of the system? Use a graph.

7 3
d. EX_E
¥
15.3.5)
\
d 4
A
¥
! 1.5, 3.5

9. y=—x+2
y=-3x-1
a.
y
AN
\4
\
\
h 4
. 1.5,-2.5)
b.
y
\
i ) ]
N5, 2 5)

IS

IS

Numeric Response

95. Isx =1 asolution of the equation 4 = -9x + 4?
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91.
92.
93.

WO P> mIT O >

MULTIPLE RESPONSE
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95. no
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Name: Class: Date:

PERT Review-inequalities, quadratics, systems, polynomials

Multiple Choice
Identify the choice that best completes the statement or answers the question.

What is the solution of the system? Use a graph.

1. 4x+3y=-12

2x+3y=-18
a. ’ C.
« -6 -4 2 |10 x
N
) -2 O
\ =% =z
(+1,+5.33)
/
b. ! d.
-6 -4 2 0] x 2 O
(:3.8) ) )
/




Name:

What is the solution of the system? Use a graph.

2. y=—=x-4
y=—x-3
v v
4 4
o} o}
a. c
—4 2 4 X —4 2 4 X
2 .
-4 -
no solutions infinitely many solutions
y y
4 4
o} o}
b. d.
-4 -2 4 x -4 2 4 x
-2 .
‘0l_2
\V J
4 (0l _—_4 4
—R\U, = 4

What is the solution of the system? Use substitution.

3. y=2x+10
y=4x
a. (-5,-20) b. (-20,-5) c. (5,20 d. (1.7,6.7)
4, 3x+2y=7
y=-3x+11
19
a. (6,-7) b. (5,-4) c. (6,-3) d. [—4,7}

ID:



Name:

What is the solution of the system? Use substitution.

5. dx-y=-5

3x—-y=-9

a. (4,21) b. (-4,-11) c. (-11,-4) d. (4,-3)
6. x—y=-6

6x—3y=-9

a. (—6,%] b. (3,9 c. 4,-11) d 1,7

What is the solution of the system? Use elimination.
7. 2x-2y=-8
x+2y=-1
a. (3,1 b. (0,4) c. (1,5 d 14,1

What is the solution of the system? Use elimination.

8. Sx+8y=-29

Tx -2y =-67
21

a. (-7,9) b. (-9,2) c. (—10,§] d. (-1,-3)

Which ordered pair is a solution of the inequality?
9. y>24x -5

a. (2,1 b. (3,0) c. (3,4 d 1,1
10. 2y+6<4x

a. (-5,5) b. (3,3) c. (3,0 d. (0,0)



Name: ID: C

Graph the inequality.
11. y<2x—-4
a.




Name:

12. 2x+8y > 16
a.

'

i
2|

B

ID:
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Name

13 y>—4x+2




Name:

What is the graph of the inequality in the coordinate plane?

14. x=4

ID:



Name:

15. y<2

16.

c. y=2-5x+1 d y<-5x+1

ID:



Name:

17.

18.

19.

20.

21.

22.

23.

»

o - o
) .
/4
a. y<ux-4 b. y=22x-4
Simplify the sum.

(4u? + 5u2 + 5) + (6u — S5u + 8)

a. 2ud+5u?-5u+13
b. 2u3-5u%>+5u—-13

Simplify the difference.

(-7x=5x*+5) - (-Tx*-5-9x)
a. —14x*-10x+10
b. 2x*+2x+10

w2 -=Tw—-6) —Bw?+2w-15)
a. Sw2+9w+1
b. 8w2-5w-11

Simplify the product.

2n(n® +3n+4)
a. 2n+3n+4
b. 2n*+6n2+8n

5a*(3a* + 3b + 2)
a. 8a*+ 8ab + 54>
b. 15a® + 3b+ 1042

Factor the polynomial.
260 +4x” + 8x

a. 2x3+4x*+ 8x
b. 2x(x2+2x+4)

y<2x+4 d y>2x+4

13 —5u +5u?+ 10u?
103 + 5u? - 5u + 13

—14x*+ 10x + 10
2x*+2x+ 8

2w?2—9w -1
2w?—5w-11

2n3 + 6n + 8
n’+5n+4

15a® + 15a2b + 10a?
8al + 15a2b + 54

2x(x +2)(x+4)
2x(x2+2x+8)

ID:



Name:

24.

25.

26.

27.

28.

29.

30.

31.

32.

49w13 + 14w8
a. Twi(Tw> +2)
b. wi(49w° + 14)

c.
d.

T(Tw' + 2wd)
Tw(Tw® + 2w)

Simplify the product using the distributive property.

(5h +5)3h —17)

a. 15h* = 20h - 35
b. 15h% + 20h — 35

(=3h + 2)(5h = 7)

a. —15h* = 11h + 14
b. —15h% + 11h + 14

Simplify the product using FOIL.

(Bx—7)(3x—15)
a. 9x?2+6x+35

b. 9x2—36x—35
(3x — 4)(5x + 6)

a. 15x2 —38x + 24
b. 15x* —2x - 24

What is a simpler form of the expression?

(2n? + 4n + 4)(4n - 5)

a. 8nd+6m2—4n-20
b. 8n®—6n%+36n-20

(2k + 3)(2k* — 5k - 3)

a. 4k +21k*—4k-9
b. 4k +16k> -9k -9

What is a simpler form of each product?

(2x—-6)?
a. 4x2-24x+ 36
b. 4x2-12x+ 36

(4x — 6y3)?
a.  16x% —24xy3 + 36y°
b. 16x2 —4xy3 + 36y°

10

15h% + 50h + 35
15h* = 50h + 35

—15h* = 31h — 14
—15h* + 31h — 14

9x2 —36x + 35
9x2 + 36x + 35

15x% + 38x + 24
15x% +2x — 24

8n3 +26n2 —36n - 20
8n3 +4n? —6n-20

4% — 4)2 + 9% — 9
43 — 4k — 21k -9

4x2 - 8x + 36
4x2 + 36

16x% — 48xy3 + 36y°
16x% + 36y°

ID:



Name:

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

What is a simpler form of the following expressions?

(6m? - 3)(6m? + 3)
a. 36m?-9 c.
b. 36m*+9 d.

36m*—-9
36m3 -9

What is the factored form of the following expressions?

w2+ 18w+ 77

a. (w+7w+11) c.
b. w-7)(w+11) d.
d?>+10d + 21

a. d-3)d+7) C.
b. d-3)d-T7) d.
d*—14d + 48

a. (d-8)(d-6) c.
b. (d+8)(d+6) d.
xX2—x-42

a. (x-7)(x+06) C.
b. (x+7)(x+06) d.

What is the factored form of the expression?

6x2+5x+ 1

a. Gx-D2x+1) c.
b. GBx+1D2x+1) d.
35x2+ 73x + 36

a. Gx+4)(Tx+9) C.
b. Gx+4)(Tx-9) d.
4x2+12x+9

a. (2x-3)2x-3) C.
b. (2x-3)2x+3) d.

What is the factored form of the expression?

128 + 4d — 1
a. (6d+1)2d+1) c.
b. (6d—1)2d +1) d.

What is the factored form of the expression?

206 + 22x — 12
a. 2(5x-2)2x +3) .
b. (10x —2)(4x + 3) d.

11

w+Dw+77)
w-7Tw-11)

d+3)d-17)
d+3)d+7)

d-8)(d+6)
(d+8)(d-6)

x+7)(x-06)
(x=7)(x-06)

Bx+D(2x-1)
Bx-1(2x-1)

Gx-4(Tx-9)
Gx-4)(Tx+9)

2x+3)2x-3)
2x+3)2x+3)

6d+1)2d-1)
(6d-1)2d-1)

2(5x+2)(2x - 3)
2(5x+4)(2x - 3)



Name:

What is the factored form of the expression?

ID:

43. d> —6d+9
a. (d+3)° c. (d-9d-1)
b. (d-3)d+3) d (d-3)°
44. d* +20d + 100
a. (d+ 10)(d - 10) c. (d-10)°
b. (d+ 10y’ d. (d-100)d - 1)
What is the factored form of the expression?
45. rP-49
a. (r+7r+17) c. (r=7r+17
b. (r=-7r-17 d r-7r+9)
46. s2-9
a. (s+3)(s+3) c. (s=3)(s+3)
b. (5-3)(s-3) d (-3)(s+95)
What is the factored form of the expression?
47. 4x2-81y?
a. (2x+9y)? c. 2x+92x-9)
b. (2x+9y)(2x-9y) d. (2x-9y)?
48. k*—49h?
a. (k-Th»)k+1T) c. hk+7)(k-T7)
b. (k+7h)(k+7h) d. (k+7Th)(k-1Th)
49. 54x* —96
a. 6(3x—4)° c. 6(3x+4)’
b. 6(4x+3)(4x—3) d. 6(B3x+4)(3x-4)
50. 48x +48x+12
a. 3(4x-2)° c. 3(2x+4)’
b. 3(4x+2)’ d. 3(x-4)°
What is the factored form of the expression?
51. 33 +3x2+x+1
a. (x+DBx2+1) c. (x+3)3Bx*-1)
b. x(Bx2+x+1) d. 3x2(x+1)

12



Name:

52.

53.

54.

55.

56.

57.

58.

59.

60.

18¢3 + 12¢2 - 15g - 10
a. (6g2—2)(3g+5) c. (6g>-5)(3g+2)
b. (6g%2+2)(3g-5) d. (6g>+5)3g-2)

What is the factored form of the expression? Factor completely.

6x* — 9x3 — 36x2 + 54x

a. 3x(x2-6)2x-3) c. 3x(x2+6)2x+3)
b. 6x(x2-6)(2x —3) d. 6x(x2+6)2x+3)
84k3 — 126k% + 70k — 105

a. 7(6k*-5)(2k +3) c. (42k2-5)(14k+ 3)
b. (6k%+35)2k-21) d. 7(6k%*+5)(2k—3)

Solve the equation using the Zero-Product Property.

x=6)(x+3)=0
a. 63 c. —-6,-3
b. 6,-3 d -11

(2x—4)(6x+3) =0
1

a. -2, - c. 2,6
b. 2, ——; d 2 %
Tn(10n-7)=0

a. %, _llO c. 0 _llO
b0l L 12

What are the solutions of the equation?

22 4+37-54=0
a. 6,9 c. —6,9
b. -6,-9 d 6,9
27 +37-2=0

1
a. 2,2 c. 1,2
b. 1,2 d 1 -2
.1, T
ct=6c=0
a. 0,6 c. 0,A/6
b. 0,-6 d 1,-/6

13
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Name:

61.

62.

63.

64.

65.

66.

67.

68.

15 = 8x* — 14x
35
a. 15 b.
x> =3x=18
a.  4.06,-4.06 b.

21.75,-18.75

ID:

5 2 4
c. -3, 3 d 53
c. —6,3 d 6,-3

Use the quadratic formula to solve the equation. If necessary, round to the nearest hundredth.

x?+20=—-9x
a. 4,5 b.
x?+13=10x

a. -1.54,-8.46 b.

1.54, -8.46

c. —4,-5 d. 4,-5

c. —1.54,8.46 d. 1.54,8.46

Simplify the rational expression. State any excluded values.

5x — 10

x—2

LS

’ 2

b. x

S5x — 40

5x + 10

a. x_g;wherex;t—Z
x+2

b. x+2;wherex¢8
x—38

Tx

—4x + x2

a. 7 ;wherex #4,0
x—4

b. —Z+l;wherex¢0
4 x

—15x6

X6 — 4x7
4;_1;Wherex¢71t,0

b. 1__4x;wherex¢711,0

c. 5;wherex#?2

d. 10; wherex #5

c. Silglo;wherexi—Z
d. 5[§i§];wherex¢2
i

’ 4

d. %; where x # 0

1 —4x
—15x

—15x . 1
1_4x,wherex¢ 1

; where x # 0

14
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69.

70.

71.

72.

73.

x—4
x2—x—12

a. x4

b.

; where x # -3, 4
x+3

x2 + 11x + 28
x+4

a. L;wherex;é 4
x—4

b. x+7;where x # -4

Multiply. State any excluded values.

IR

2a 4a?
A; where a # 0
8a3
25

b. ——
8az

9-5 34

-3 qg+4

-3q2 + 15

a. %; where g # 3
-3q + 15¢2
ﬁ; where g # 3

Multiply.

y:-4 4

Sy y+2

4y +2)

& =
4y -2

b. 5

15

i; where x # —4
x4

x+ 3; where x # -3

x—4

x+7; where x # =7

l; where a # 0
aZ

é; where a # 0
8az

q? + 15¢g
-3¢
—3¢q2 + 15¢q
—3g - 12

; where g # 0

; where g # —4

ID:
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74.

75.

76.

7.

78.

79.

80.

81.

82.

83.

Divide.

=4 (-2

x—8 ~ x-3
x—=2
(x —8)(x —3)
- 2)(x -3
b, (x = 2)(x — 3)
x—38
(=12m7 — 14ms) + 2m?
a. —12m7 — 14m*

b. —6m5 — Tm*

(20m° — 10m8 + 4m5) + 2m?
a. 10m% — 5m® + 2m>

b. 10m’ — 5m¢ + 4m5>
(x2-—6x+12)+(x-2)

aa x—6-6

4

b. -4 -
o x—=2

25x2 = 30x + 12) = (5x = 2)
12
. 5x-6-
a " 5x =2
4
5x =2

b. 5x—-4-

What is the simplified form of each expression?

3(10—6)° +2

a. 6 b. 12
9(20 + 4) + (4 —2)

a. 52 b. 182
3°.32+12+4

a. 437 b. 867
1%6”&@2—ﬁ)+9]

a. 169 b. 585

Evaluate u + xy, foru=4,x=28,and y =8.

a. 68 b. 40

16

x+2)x-3)
x—8

x=2)x-3)
x—8

—6m7 — Tms
—6m5 — 14ms

10m7 — 10m3 + 4m3
10m? — 5ms + 2m3

12
-6 —
o x—2

4
—4
X + —
5x—-6-6

4
Sx — 4+
o )
24 d 8
179 d. 108
219 d. 291
181 d 26
96 d. 20
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84. Evaluate % +xy4, foru=3,x=3,y=3,and z=3.

a. 324 b. 10000 c. 244 d. 6562

85. Evaluate (ab)* fora=3and b = 5.
a. 625 b. 30 c. 75 d. 225

Simplify each expression.

—4rq
86. 37
4 3
a. 3q c. —r
3 4
b. —q d —r
87. (-8+59)+5
a. -3+5¢ c. -8+ 10gq
b. -3+ 10q d. 2q
. X 7 8
88. What is the value of ? when x = 5 andy = g?
21
a. e c. 3
28 21
b. 3 d - 16
What is the simplified form of each expression?
3
89. Z(28m +32)
a. 2lm+32 c. 2lm+24
b. 84m+24 d. 2Im+96
90. 1.7m’ +6.5n—4n+2.5m" —n
a. 1.5m*—4.2n c. 42m*+1.5n
b. 1.5m" +4.2n d. 4.2m*-1.5n
91. 4.95> +2.4k — 6.1k +7.4s> — 3.7k
a. 12.3s2 —7.4k c. 12.3s% +4.440892098501e—016k
b. —2.5s* — 7.4k d. —2.55% +4.440892098501e—016k

What sum or difference is equivalent to the expression?

Sx+3
2. >3
1.3 S N 3 4 2
G A T) 10" 2 “ 70 5%

17
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6x —2
93. 7
4 L 6.2 2.6
Tt 7'77 “ 7T
Multiple Response

Identify one or more choices that best complete the statement or answer the question.

What is the solution of the system? Use a graph.

SN

94, y=x+3
y=-2x-3
a. C.
’ \
4 \
2 2
vl 2\ O 4 x -4 O AN
\ T
= e }
0l _2
U=
4 4 \
b. d
))
4 4
o] o]
O 1) 9 1
\CZRY) (=21
U -2 0] 4 x ) 0] 4
o] -
4

Numeric Response

95. Isx =4 asolution of the equation 7 =2x + 1?

18
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85.
86.
87.
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89.
90.
91.
92.
93.

w00 > 090

MULTIPLE RESPONSE

94. D

NUMERIC RESPONSE

95. no
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